Four guestions

Class objective: | will be able to read and understand the story and related
vocabulary.

Concept A: Story:

One day in Akbar's head, somehow, the idea that this Birbal should be defeated
today. Then he used four heads to answer four questions. Strangely, all four of those
questions had the same answer. Akbar was sitting there, waiting for the four
questions of the Arrow to strike him and defeat him. Meanwhile, Birbal came to the
palace and bowed to Akbar.

Akbar: Birbal did not make you a great scholar. You have a great question.

Birbal: Sorry Mahaprabhu, | did not consider myself a great scholar. That's what
people are called. What is your big question?

Akbar: Why do leaves decay? Why do horses not run so well together? What caused
the sown crop to come out so well? Why forget the learned phenomenon? You have
to answer one of these four questions.

Accepting the great challenge of Akbar's 4 questions, Birbal pondered for a moment
and then smiled and said, "Mahaprabhu, it is not like there is no diversion.
Unsatisfied, Akbar asked him to clarify his answer. Then Birbal laughs and gives a
clarification.

Birbal: Prabhu, if you don't turn the leaves all day, they will start to decay. If the horse
is not rotated, they will cross. If the soil of the field is not plowed and turned every
year, the grass will grow and the crop will not grow. It is forgotten if it does not relieve
the learned thing repeatedly because of rotation. This is the correct answer to your
four questions.

Akbar's face calmed down as he heard Birbal's answer, because it was the right
answer. Akbar's arrogance came to an end. Akbar happily finished the meeting,
appreciating his ingenuity.
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